TYNOAOr'IO

2TOIXEIA MHXANQN
. F
HAol =2
. F F
KoxAloouvdéoelg | o= n =
, .o dy n 7z, , zd.n
ji=—==—2¢ i=—==2% m/s U= m/s
OdovTokKivnon ny 7, (m/s)n 1000.60 (m/s)
i:ﬂ:d_z’ nl'dl'(l_l//):nZ'dZ’ nzznl.ﬂ(l_‘//)’ dzznl'dl'(l_l//)
nz dl d2 n2
b
, n, d¢-(1-
lyavTtokivnon 2 ] 1 (A=y) |
U=220 (mys)q u =280
60 1000-60
2 2
Lx2-a+1571(dy+dp) + 8279 | Lo 541571 (dy + dp) + 2 F %)
4-a 4.a
I 2
AAUO|§£§, Fop 7d o i:ﬁzd—z, :ﬂ:é] U _zdn (Mm/s)7 U= zdn m/s)
AAuookivnon n, dp Z 60 1000-60
‘Edpava M =0
(Zuvenkeg YF=0
IcoppoTriag P — AvTiTTpoowTreUel To PéyeBog Twv avTidpdoewy Ry, Ry
oTEPEOU
OWHATOG)
MovToUA m-P_d__4
Tz z+2
n oy e nd _ nd,
EPIPEPEINKS Bria p= P
. . _d_nd_d,-2m
ApIBUOG dovTIwV z=_= > m
ApXIKR SIGUETPOG d=mz =pTTZ =d,-2m
AIGUETPOG KEPAAWY d,=d+2m=m(z+2)
OdovToTpoxoi AIGUETPOC TTODIWV d =d-2(m+c)=d-25m

AKTIVIKA eAeuBepia c=0,25m
“Ywog dovTiou h=2m+c=225m
"Yyog KepaArg h,=m
“Yyog 1odiol h,=m+c=125m
Mdxog SovTiou s =% - % ~1,5708m
ATIO0TACN KEVIPWV acird _Mz+2z)

2 2




